ENES 220 — Mechanics of Materials
Spring 2003

Solutions to Homework #5
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Problem 4.4
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Problem 4.27
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Problem 4.145

[Given] _—

T4, T, v

Not ref?uu'red

g=_ My | M2
. IS

[Solution]

| . \
[3= Tz (0#n)(120) = 0,057 w*

[To Find]
[FBD]

[FPU]

I\,: r;'_ é.th)(O“F fh)3 =0, 0064fh¢

9 0of 9

Mz = = 400Gs30° = =346 4 [hn
My = 400 Sh30" = 206 (b-ih
@ Yp=08th, %H=02m
G7= _ Maha + MNE& _ CHEHEm06w) | (200 b )22 30 )
L Iy (0.05Tgw*) (00o64in*)
= §858.4 psi=(28¢KS]
() Yp= 0.6, Zp=-02m
Gp= — Mz e Myzs A (o) (0.6ih) (200 b 1n)(~0.2th)
IF: L (0058 w*) (@ 0064_“,, )
= 26416 psi =[- 2.64 ks]]
© Yo=-08m, Zp=-02w
To=— MZYJ? MWz, 344 wm)(‘@éin_) R (20 “:?‘fn)(—o\Zin)
Iz Iy (00576 %) (0.0064 1n%)

= 93584 psi =|- 4B Kksi|




